MSE228 Engineering Quantum Mechanics
Quiz 1 Duration: 30 minutes Open Book Quiz

1. The maximum wavelength for photoelectric emission in tungsten is 230 nm. What
wavelength of light must be used in order for electrons with a maximum energy of 1.5
eV to be ejected?
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‘ 2. Electrons are accelerated in television tubes through potential differences of about 10
| kV. Find the highest frequency of the electromagnetic waves emitted when these
| electrons strike the screen of the tube. What kmd of waves are these?
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3. Gamma rays of energy 0.662 MeV are Compton scattered. >

(a) What is the energy of the scattered photon observed at a scattering angle of
60°?

~ (b) What is the kinetic energy of the scattered electrons? i ﬁ\
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